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Question Paper
PART - I : FIRST LANGUAGE

Q.1 Find out the word that explains the meaning completely.
Organised journey with a purpose to find an unknown place.
1) tour 2) expedition 3) trekking 4) travelling

Q.2 Select the correct adjective adverb pairs.
1) brute - brutal 2) unity - unite 3) fresh - refresh 4) infant - infancy

Q.3 Choose the correct option to complete the relationship grown is to groan as pause is to ____
1) stop 2) paws 3) pose 4) pace

Q.4 Fill in the blanks with correct modal auxiliaries.
You _____ light a matchstick, the room is full of gas.
1) needn’t 2) mustn’t 3) won’t 4) doesn’t

Q.5 Identify the tense.
We went out to celebrate after we had won the trophy.
1) past tense 2) past continu ous tense
3) present perfect tense 4) past perfect tense

Q.6 Identify the type of sentence and choose the correct option.
The journey was very long so I was tired to go.
1) simple 2) compound 3) complex 4) Interrogative

Q.7 Identify the underlined subordinate clauses and choose the correct option.
It was a celebration because school was over.
1) None of these 2) Adjective clause 3) Adverb clause 4) Noun clause

Q.8 Choose the correct answer to the given riddles.
‘I travel all over the world, but always stay in my corner. What am I ?
1) passport 2) ticket 3) viza 4) A stamp

Q.9 Fill in the blank with the correct question tag.
Everybody has learnt the lesson, _____ ?
1) has they ? 2) have they ? 3) didn’t they ? 4) haven’t they ?

Q.10 Choose the correct sentence without the adverb ‘too’.
The words are too difficult to understand.
1) The words are very difficult so can’t understand.
2) The words are so difficult that they cannot be understand.
3) The words are not easy.
4) The words are so difficult to understand.
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Q.11 Fill in the blanks with the correct options.
Those who are physically challenged
1) should be helping 2) should helps 3) is helped 4) should be helped

Q.12 Choose the right option of the interviewer interviewee combination.
A : Congratulations ! how it feels to be a champion.
B : Thank you ! It’s like your dream coming
A : Were you ever thought to loose it at any point.
B : There was no time, I was playing my best.
1) mother-son 2) father - daughter
3) News reporter - sports person 4) Anchor - audience

Q.13 Choose the correct option from the given context.
“If you want to shine like a sun. First burn like a sun.”
1) M. K. Gandhi 2) Shakespeare 3) Dr. A. P. J. Kalam 4) Sardar Patel

Q.14 Pick out the sentence where there is code - mixing.
1) Did you make roti ? 2) The garden is clean.
3) The internet is a boon 4) Can you help me ?

Q.15 Read the following line from a letter and choose the correct option.
“I wish you were here, so we could enjoy X’mas together this year.” This is a line from.
1) A letter of complaint 2) A letter to an officer
3) A letter to your teacher 4) A letter to a friend or relative

Q.16 Complete the slogan, choosing the correct option.
“Appxise Education, reprise ____”
1) society 2) Innovation 3) intelligence 4) progress

Q.17 to Q.18 : Choose the correct options and fill in the blanks to complete the brief interview.
A : Why doesn’t the government ________ of cleanliness drive compulsory.
B : Oh, yes! There are many schemes and _____ already implemented.

Q.17 1) rules 2) policy 3) ideas 4) suggestion

Q.18 1) impose 2) apply 3) start 4) ready

Q.19 Complete the slogan, choosing the correct option.
Green revolution a best solution to arrest ______
1) cleanliness 2) poverty 3) pollution 4) evolution
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Q.20 to Q.22 : Read the interviews and answer the question below.
Ashwini : Hi, Ayesha its a great pleasure to see you after so long. I was thinking of you when I watched
K.B.C.
Ayesha : Why, what was the matter ?
Ashwini : The person sitting on the hot seat was smart and had an excellent knowledge as you have.
Ayesha : Oh! Those were the days, very challenging and full of excitement.
Ashwini : Today also people remembered it.
Ayesha : Yes but not all programme of that standard.

Q.20 The conversation is about ___
1) T. V. show 2) Interview 3) talk show 4) chat

Q.21 What is the full form of K. B. C. ?
1) kaun Banega champion ? 2) kaun Banega crorepati ?
3) king - Banega chor 4) kuchh Batein chotti

Q.22 Choose the wrong opposites.
1) pleasure × displeasure 2) remember × forget
3) smart × dumb 4) excitement × enjoyment

Q.23 to Q.24 : Read the poem given below and answer the question.
A world of machines is where we live
It’s such a tragedy.
The human touch is all but gone,
Like ancient history.
Voice mail, computers and fax machines,
E-mail and web-sites galore.
If we should survive a thousand more years.
There’s bound to be very much more.
I want to talk to a person,
someone who knows what I need,
I’m tired of listening to menus.
Just answer the telephone please.

Q.23 The word galore means,
1) gorgeous 2) in large quantities 3) victory 4) latest

Q.24 What is the human touch compared to ?
1) tragedy 2) not here 3) machines 4) ancient history

Q.25 State the number of innovation mentioned in the poem.
1) 6 2) 5 3) 4 4) 7



MAHAEXAM - 2017          Medium-English : First Language & Mathematics (Std.VIII)

(5)

PART - II : MATHEMATICS

Q.26 How many two digit numbers contain the digit 3 ?
1) 10 2) 11 3) 20 4) 18

Q.27 Which of these numbers given below divides all the three 336, 252, 322 exactly.
1) 8 2) 28 3) 14 4) 16

Q.28 Find the square root of the followings 38 25
11

.

1) 6 8
1

2) 6 9
1

3) 6 5
1

4) 4 5
1

Q.29 Write the number 100000000000 as power of 10. Choose any two correct answer.
1) 0.1 1012 2) 10   1011 3) 1   1011 4) 10  1010

Q.30 The ratio between two number is 4 : 7 and their sum is 77. Find the numbers.
1) 29 and 49 2) 28 and 49 3) 82 and 49 4) 82 and 94

Q.31 What is the average of first ten composite numbers ?
1) 1.12 2) 11.5 3) 12 4) 11.2

Q.32 Indentify the pythogorean triplet form the following ?
1) 7, 20, 21 2) 3, 5, 7 3) 9, 40, 41 4) 11, 60, 62

Q.33 What is the measure of the complemetary angle of the angle whose measure is (2x - 90)0.
1) 2x 2) 2(90-x) 3) (90-x) (x-90) 4) 2x + 90

Q.34 The measure of an angle is four times the measure of its suplimentary angle. Find its measure.
1) 360 2) 180 3) 720 4) 1440

Q.35 The measure of an inscribed angle is 80. Whatis the measure of the arc it intercepts ?
1) 800 2) 400 3) 1600 4) 2800

Q.36 The angles of a cyclic quadrilateral are (3x + 20)0 and (2x + 30)0 and it inscribed in a circle. Find their
measures?
1) 720, 1000 2) 980,  820 3) 960, 840 4) 890,  910
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Q.37 If the adjacent sides of a quadrilateral are congruent then it is _____ (Choose two correct one)
1) Trapezium 2) Rhombus 3) Kite 4) Square

Q.38 The height of a cylindrical tank is 1m and its diameter is 70cm. How many liters of water can it hold ?
1) 385 liters 2) 3850 liters 3) 38.50 liters 4) 38500 liters

Q.39 The radius of a sphere is 28 cm. What is its surface area ?
1) 9568 sq.cm 2) 9656 sq.cm 3) 656 sq.cm 4) 9856 sq.cm

Q.40 The volume of a cubical block is 125 sq.cm. What is the area of one of the surface of the block ?
1) 50 sq.cm. 2) 25 sq. cm. 3) 150 sq.cm. 4) 1.25 sq.cm.

Q.41 Sides of right angled triangle are 8cm and 6cm. Then find its perimeter.
(Select two correct alternatives.)
1) 0.24 m. 2) 28 cm 3) 24 cm 4) 0.28 m.

Q.42 If lengths of diagonals of rhombus are 24 cm and 32 cm respectively find its perimeter.
1) 48 cm 2) 112 cm 3) 100 cm 4) 80 cm

Q.43 A wire of length 720 cm cut at 8 places into same parts. Then what it the length of cut part in decimeter.
1) 90 2) 800 3) 80 4) 900

Q.44 150 tiles are fitted in one room. If area of on tile is 30 cm 30 cm. Length of room is 4.5 m then what
is breath of that room ?
1) 2m 2) 3.5m 3) 2.5m 4) 3m

Q.45 4 Litre + 40 ml = ........... Litre.
1) 4.004 2) 4.40 3) 4.040 4) 0.440

Q.46 The area of a rhombus is 990 sq.cm. If the lenght of one of its diagonals is 36cm. What is the length of
other.
1) 46 cm 2) 55 cm 3) 38 cm 4) 56 cm

Q.47 If principle amount = Rs. 12000 rate of interest = 8% no of years = 3.5 years then find simple interest.
1) Rs. 3000 2) Rs. 2360 3) Rs. 3360 4) Rs. 3460
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Q.48 Rs.10000/- at the rate of Rs.10/- p.c.p.a becomes on amount of Rs.13000/- in 3 years.  Then in how
many years will the same amount at the same rate become Rs. 14500/- with simple interest.
1) 4.5 2) 4 3) 2 4) 6

Q.49 Pradnya deposit Rs.50,000/- in a bank.  After Two years she got Rs.60,500/- by compound interest.
Find out the rate of interest.
1) 12 % 2) 20 % 3) 0.1 % 4) 10 %

Q.50 One shopkeeper sales 10 pens for Rs.120/- with Rs.30/- loss. Then what is the cost price of a single
pen?
1) Rs.12/- 2) Rs.15/- 3) Rs.14/- 4) Rs.10/-

Q.51 Ramesh sold his old car through on agent for Rs.85000/- at 4% commission. How much amount did
Ramesh get ?
1) Rs.79800/- 2) Rs.81600/- 3) Rs.81500/- 4) Rs.81680/-

Q.52 A Shopkeeper gave 10% discount on the printed price of a book.  After giving a discount this book is
avilable for Rs. 63. What is the marked price of that book ?
1) Rs. 73/- 2) Rs. 70/- 3) Rs. 56/- 4) Rs. 69.30/-

Q.53 Present age of Anita is more than the sum of the ages of her Two children by eight years. The difference
between the ages of Anita's Two children is 3 years. If present age of Anita is 45 years. Find the age of
her elder child five years back.
1) 17 years 2) 16 years 3) 15 years 4) 12 years

Q.54 If 
2 10 3 1 ×  ×  × 2  
5 3 8 22

   
 

 = x, then = ?

1) 22 2) 
1

122 3) 
1
22 4) 

11
60

Q.55
7 4 8 9 2 ?
4 5 15 4 3
    

1) 
2
3 2) 

3
2 3) 

4
7 4) 

7
4
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Q.56 Which of the following is the smallest fraction ?
10 3 4 2, , ,
7 4 5 3

  

1) 
4

5


2) 
10
7 3) 

2
3


4) 
3

4


Q.57 1
13
3


 = ? (Choose any two correct options.)

1) 
3

10 2) 
10
3 3) 

1
3 4) 0.3

Q.58 In the figure. How many triangles have Y as vertex ?

X

Y Z
M

U

1) 2 2) 3 3) 5 4) 4

Q.59 Measures of two angles are given if line ED || seg AB. Find value of x.

E DC

650 350

x

A B

1) 650 2) 350 3) 560 4) 530
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Q.60 In fig.  line AB|| line CD. Line GH is transversal. If mEFC = (3x + 25)0 and mGEB = (2x + 5)0

find mDFH.

G

H

FC

A B

D

E
2x+50

3x+250

1) 1150 2) 650 3) 1350 4) 1200

Q.61 In figure alongside seg. AB is a diameter l(AC) = 12 cm, l(BC) = 5 cm, Find the radius of circle.

A

C

B

1) 13 cm 2) 6.5 cm 3) 17 cm 4) 7 cm

Q.62 In the adjoining figure, measurements are given. Find out the area of the total figure in square units.

G

CD

A E B

F

3 15

6

4

1) 162 2) 66 3) 111 4) 51
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Q.63 to Q.65 : Given below is a graph which shows the number of boys and girls students in
std. VII, VIII, IX and std.X. Observe the graph and answer the questions.

260

240

220

200

180

160

140

120

100

80

60

40

20

   VII              VIII              IX                  X

         - Boys
         - Girls

Re
su

lt 
in

 %

y

x
Years

Q.63 How many girls are there in all the standards ?
1) 40 2) 180 3) 200 4) 90

Q.64 Which class has the highest number of girls ?
1) X 2) IX 3) VII 4) VIII

Q.65 In which class boys are least ?
1) VIII 2) VII 3) IX 4) X

Q.66 42% - (7% × 14%) = x. Find value of x. Find two correct values.
1) 4102 2) 4102 × 10-2 3) 4102 × 10-4 4) 0.4102

Q.67 If length of rectangle is increase by 10% and breadth decrease by 5% then. What difference occurs in
area of that rectangle ?

1) Increase by 3
1
2 2) Decrease by 3

1
2

3) Increase by 4 
1
2 4) Decrease by 

4
2
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Q.68 What is the sum of the opposite number of (5a - 2b) and (4a + b).
1) -9a + b 2) 9a - b 3) -9a2 + b 4) -9a - b

Q.69 If 
0 0

0 0

(55) (105)
(55) (105)


  + 

0 0

0 0

(65) (185)
(65) (185)


  = ?

1) 1 2) 2 3) 3 4) 4

Q.70 4a2 + 12ab + (m + 5)b2 is a perfect square then m = ?
1) -4 2) +4 3) +1 4) -2

Q.71 If 
2 1

2
x x

x x
 




 then x = ?

1) 2 2) 4 3) -4 4) 5

Q.72 3
3

1
3375

x
y

 
 

 
 has factors from following ? Choose the correct one.

1) 
1 1

15 225
x x

y y
  

   
  

2) 
2

2

1 1
15 15 15

xx x
y y y

  
    

  

3) 
2

2

1 1
15 15 225

xx x
y y y

  
    

  
4) 

2
2

1 1
15 15 225

xx x
y y y

  
    

  

Q.73 (4.1)2 + (1.7)2 + (3.2)2 + 2 × (4.1) (1.7) + 2 × (1.7) (3.2) + 2 (3.2) (4.1) = ?
1) 8.1 2) 81 3) 0.0081 4) 0.081

Q.74
1 + a + b + ab

1 + a  = ?

1) b + ab 2) 1 + b 3) 2b 4) a + b

Q.75 If x = 37 and y = 43  then 2( )x y  = ?

1) 3600 2) 80x2y2 3) 80 4) 4 5




